








Recap: What Uy the bus stop method? ly it o formal
or uinformal metivod? Can yow gwe me an examgple?

Quotient
| | |
Divisor ——
T Try and label the different parts. Divid ‘ y
- (amswers are o thhe next page) — R



Recap: What i the buy stop metinod? Iy U a formal
or informal metivod? Can yow guwe me an example? -

Quotient

Divisor

Dividend

Formal method




First we can build the number:
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84 - 4 =
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—Next we will group the tens.

— How many times does 4 go into 8?




84 -4 =21

_Next, group 1s.

_How many groups can you make?




6 + 3 =

-Lets try another one...
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_First we can build the number:
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96 - 3 =
I

[
—Next we will group the tens.

— How many times does 4 go into 8?




96 ~ 3 =32

_Next, group 1s.

_How many groups can you make?




) metrool below: Yow can always use place
value cowntersy to- helpp yow
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93 23
84 4
68 22
—q3q 1 3
— 1550 - 5
T 484 24




ANnswers:
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BG T 5= 15
oo = o
Yoo e =l
oo 2= o

a3 23 =31
84 24 =21
68 22 = 34
939 =3 =313
S50~ 5 =110
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|| o a) 3 pieces of pineapple can fit on to each stick.

How many full sticks can be made?

How many grapes will be on each stick?

b) The grapes are shared equally between 4 sticks.

Spicy:
|

— Dora is calculating 72 =+ 3
Before she starts, she says the calculation will involve
— an exchange.

Do you agree?
Explain why.




ANSWers:

! ! ! Spicy:
Dora is calculating 72 + 3

a) T:\cre are 3[‘? pieces of pineapple. Each stick can hold 3 pieces BefOI"e She Stal"tS, She Says the CaICl.llatiOI’] Wl ” inVOIVe
ot pineapple.
& an exchange.

3%10-30 %3-9 Do you agree?
30 pieces of pineapple + 3 = 10 sticks Explain Why

9 pieces of pineapple + 3 = 3 sticks
I— 39 pieces of pineapple + 3 = 13 sticks

B &

13 full sticks can be made.

b) 48 grapes are shared equally between 4 sticks. YeS) because 3 does not dl:Vl:de equa”H I'.Vlto 7)
B (000000000000 ldid4s+2=24ondthen } || .
Do masumesr o o0 there would be an exchange in the tens
- [J ‘ATITATITAY. -:l?\tl_'lesome as halving twnce., - e
rraran ' CO‘MW\V\..

48 con be split into 4 equol groups.

48 +4=12

Eoch group contains 12 grapes.

There will be 12 grapes on each stick.
Rememberthat4 + 4 =1, "\ .——.-. >
&

40 +4 =10,
S0 .




